[> #PROBLEM 1 HOMEWORK 16

[> read 'C:/Users/cgrie/Dynam Models Bio/Homeworks/HW15/M15.txt"
> print (Orbk) ;

proc(k, z, f, INL, K1, K2)

local L, i, newguy;
L := INI,
if not (type(k, integer) and type(z, symbol) and type(INI list) and nops(INI) =k and
type(K1, integer) and type(K2, integer) and 0 < K/ and K/ < K2) then
print( "bad input’); RETURN (FAIL)
end if;
while nops(L) < K2 do
newguy = subs({seq(z[i]|=L[ —i],i=1.k)},f); L:= [op(L), newguy]
end do;
[op(KI.K2,L)]
end proc
> Digits:=10;

orbitl := evalf(Orbk(l,z, z[1l]*((5/3)-z[1]),[0.5],1000,1020)) ;

print( orbit 1 is stable’);
print( its stable fixed point is’);

orbit2 := evalf(Orbk(l,z, z[1l]*(2-z[1]),[0.5],1000,1020)) ;
print( orbit 2 is also stable’)
Digits == 10
orbitl := [0.6666666670, 0.6666666670, 0.6666666670, 0.6666666670, 0.6666666670,
0.6666666670, 0.6666666670, 0.6666666670, 0.6666666670, 0.6666666670, 0.6666666670,
0.6666666670, 0.6666666670, 0.6666666670, 0.6666666670, 0.6666666670, 0.6666666670,
0.6666666670, 0.6666666670, 0.6666666670, 0.6666666670 |
orbit 1 is stable
its stable fixed point is
orbit2 := [1.000000000, 1.000000000, 1.000000000, 1.000000000, 1.000000000, 1.000000000,
1.000000000, 1.000000000, 1.000000000, 1.000000000, 1.000000000, 1.000000000,
1.000000000, 1.000000000, 1.000000000, 1.000000000, 1.000000000, 1.000000000,
1.000000000, 1.000000000, 1.000000000 ]
orbit 2 is also stable

[> #We see that the point
| Error, missing operator or -
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